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OFZAEHANMEOIH (2T HeF)ol2HY| 20,904 23,444 A2,540
O&g &3 A& 60,000&10! 60 2,600 A2,540
OXSGAIS SAMTHEAILHE OIS (2T H k)l A
Bl 20,638 22,538 A 1,900
O&g &3 & 700,000& =10l 700 2,600 A 1,900
YRHALHAZIAIY QIAHHI(BE=X) 156,063 151,135 4,928
= 78,031 75,567 2,464
< 15,606 15,113 493
- 62,426 60,455 1,971
101 @148l 156,063 151,135 4,928
= 78,031 75,567 2,464
< 15,606 15,113 493
- 62,426 60,455 1,971
03 RO HAZZRE S 156,063 151,135 4,928
OYSHLH(RI|H ) el2h| 156,063 151,135 4,928
O&g &3 2,464,000& =201 4,928 0 4,928
= 2,464 0 2,464
< 493 0 493
- 1,971 0 1,971
SRAAHIAIY I2AH| (XHAI) 135, 161 139, 181 A4,020
101 Q124 H| 135, 161 139, 181 A4,020
03 RO HAZZ R E S 135, 161 139, 181 A4,020
OY2HLEH(RI|H <) el2h| 135, 161 139, 181 A4,020
O&g &3 d& 2,280,000 60! 13,680 17,700 A4,020
e EsSESdHSIE A (XHA) 22,870 23,870 A 1,000
101 Q124 H| 22,870 23,870 A 1,000
03 RO HAZZRE S 22,870 23,870 A 1,000
O JIE22(&BAEIH, R0t53)
& 13,061,000 * 14 13,061 14,061 A 1,000
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2M: BAHA
HH: HYR2YAH(BHL)
el JI2ZHI(EAHL)
SN-ZH-H2A(3H) - HRAY - BES Off & JEH
Jl2gdl(8aAr) 157,348 168,558
Jl23tl(82H L) 137,548 145,158
202 04| 32,790 40,400
01 =LHOA Y| 32,790 40,400
QJI=2HRFE I Z& 32,790,000 * 14 32,790 40,400
JI2ZHI(EAX L) 19,800 23,400
202 04| 19,800 23,400
02 EHANHI 19,800 23,400
©OF=E0 ]| & 150,000& 1121 x12& 19,800 23,400
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